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each of which has peen numbe o

(1-5). There are blanks in the following passage. L ‘e bla nﬁ-'

Four words are Euggﬂtﬂii_ ag ’ t'ear’.l:'n number, one 0
“appropriately. Find the appropriate word.

' di A0
Itis ten o'clock in the evening and [am in the ....41)..... at the medical school. .. i
of other students are working. It1s _(8)...silent, ....1)... when 50me-0NE ... A4
_page or scratches their head. o(
1. (1) library () sports room G

(3) ground ' (4) lecture room @@"ﬂ‘

2. (1) Maximum
(3) Lots

g (1) lesaish
(3) big

4, (1) except (2) rare

(3) after 8 E.— @‘ (4) against

5. (1) remov (2) holds

1 (4) turns
(3) $¢
[ ﬁ risoner was innocent. He was released.

combined form of the above two sentences begins with ....

(1) Beinginnocent,........... (2) Incaseof.......
~ (8) Assoonas......... (4) Thoughhe...........

| 1‘}'1_ -Il':.
-I-|' ¥ _&:i
T

My carhada.............. at the middle of the main road.

r-

X . A | Ch '}.__:'ilf:l?.nppmpriate phrase to fill the blank,

o

(1) breakup (2) break off
- (4) breakdown

e S 10l %', X . . ;..'-.-!"_"}



Q. Enuklat‘
Code B

8. "The penis mightier than the sword"is.........
(1) a proverb (2) afact
(3) aview (4) anissue

9. A : This pencil is too blunt.

B : 0O.K.!'Then why don't we get ......ccreesn 7 : é‘;]"
Choose the correct option to complete B's reply. e
(1) it sharpened (2) thissharpened e b
(3) it shortened (4) thisnarrowed | . o

10. He had returned to the hospital becausehe hada........... t_a;m_'ﬁfl_._l_f}af the bone.
Choose the adjective which best fits the meaning of thalaeﬂmncé to complete 1t.
(1) interpid (2) malignant
(3) amputate (4) p;:ev;_ﬂant

11. Identify the word which can be used«asanoun and an adjective.

(1) beautiful 1 (2) table

(3) run & (4) marble
12. Choose the right prefixto make the word "fortune".

Gl aami i ()i i

()N AT eiendiaties (2) N IS s
13. My fatheri138Ngry ............. me.

Identify the correct preposition to fill in the gap.

(1) with (2) on

(3) at (4) about

14. Identify the compound sentence.
(1) When she gave me a book, I thanked her.
(2) He worked hard but he failed.
(3) Aslsaw asnake, [ ran away.
(4) Inspite of working hard, he failed.

15. Identify the antonym of 'stale’.
(1) Steel Al (2) Steal
(3) Spoiled ! (4) Fresh
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16,

17.

18.

19.

20,

21.

E-3

.
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Q. Booklet B 1

L

Code 4l
You haven't donea good job ........... ? :
Complete the sentence choosing the correct question tag.
(1) aren't you (2) haven't you
(3) have you (4) haven't ]
She has given me nice gifts.

The passive form of the above sentenceis ............
(1) Nige gifts are given by she.

(2) Nice gifts have been given by her.

(3) Nice gifts has been given by her.

(4) Nice gifts are being given by her.

If you had attended my birthday party, ...........

[dentafy the later part of the sentence.

(1) you can get a cake. (2),  you could get a cake.

(3) you could have a cake. (4) you would have got a cake.

The book / whom you / lost is/ in my hands.

(a) (b) () (d)
The sentence 1s divided into four parts a, b, ¢ and d. Identify the part of the
sentence thatthasan error.

(1) (a) (2) (b)

(3) (e 4) (d)

The passage is so difficult that I ................. comprehend it,
Choose the appropriate phrase to fill the blank.

(1) am not (2) cannot

(3) could not (4) could not be

He was prepared to remain a bachelor.

He......... marry his sister's daughter.

Choose the correct option to fill in the blank.

(1) would not (2) wallnot
(3) may not (4) 1snot

[4} I



22.

243.

| 24,

25.

Raju, .. =

Ravi: M:.r father is & tear‘ﬂer. working in Hyderabad.
Identify Raju's question from the following.

(1) where is your father teaching now

(2) what is your father doing

(3) who is your father

(4) what s your father

One should work for ... nation.

Choose the appropriate word to fill in the hlank.

(1) one's (2) once

(3) his (4) their

Which bunch of grapes do you want, ... ? @ 50

(1) these or those (2) thiserthat

(3) these ones or those ones (4) tﬁiﬁ'ﬁnﬂs or that ones

a) [ am going to cut my hair,
b) Iam going to have my halr cﬁ‘b
Read the sentences (a) a.ncl {b} Identify the correct sentence(s).

: (1) only(a)is l:ur;m:!l: (2) only (b)is correct
(3) both (a) and (b) are correct (4) both (a) and (b) are incorrect
26. Whois mmhﬁg ................. . the door?
Idenﬂfy-fhé correct preposition to fill in the blank.
P (1) on (2) at
*Q:.‘ :‘., (3) above (4) upon
97. If he had not studied well, he would have failed.

28.

E-3

The above sentence tells that ........ :
(1) he did not study well (2) he studied well
(3) he used to study well (4) he wanted to study well

Choose the word with the incorrect spelling.
(1) revange (2) repentance

(3) resemblance ' (4) remind

[5) ' ' Turn Oy




29, There is a kind of austere severl

The simialr meaning of the underlined word 18 ...
(2) famous

(1) charming .
(4) rehgous

(3) simple

30. Soon after our arrival we went to bed.
The underlined word can be correctly subsatituted by -.......

{1) immediately after (2) assoon ds
(3) unless (4) when
31. Heissointelligent............. :
Identify the later part of the sentence.
(1) that he cannot study well. (2) ¢ tostudy well.
(3) that he can study well. (_4) that he cannot play games

32. The word "calf"is.......... :

(1) adisease Ve | (2) aplant
(3) an animal ,'_'_'_-;'-.:. ' (4) aperson
33. Industry 151:.]19?&:1'&1; o e people's success.
Choose the gorrect form of the underlined word to fill in the blank.
(1} m&ustnal (2) industrious
% _gﬁ} ‘i’industrmlnua (4) 1industriahstic

"-u':;"l
ﬁi Identify the pair of words in which underlined parts are pronounced in the same

‘way.

(1) food—waol (2) full —wanl

(3) full—dull (4) food —full 4
L . iﬁ.  Your friend is in hospital. You went to visit him. What would you say? .
(1) I'msorry T (2) It's worst i
;7:* - ® M}F deep condolences to you (4) Iwish you a speedy recnvgry_l. Al
R R . =

=] i

. -
L B L

gy o

- .‘_.'*' -._.'.I"
. ':' ‘!? L " -
. ] 4 o I'—' i
oy 1-'- ik 5 - .
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36. Sheis a girl. g0
Identify the part of speech of the underlined word. |

(1) verb (2)  helping verb

(3) pronoun (4) noun

- 37. Taj Mahal is the most beautiful of all the monuments in India.
The sentence can also be written without changing the meaniﬁg as
(1) No other monument in India is as beautiful as Taj Mahal.

(2) Very few monuments in India are as beautiful as Taj Mahal.

(3) Taj Mahal 1s not so beautiful than any monument in ¢

(4) Some monuments are more beautiful than Taj %
s l-:":"-:
38. Identify the correctly punctuated sentence. ..q: P

rll. 1--.'.

(1) Raju! whois a farmer? Has two sons. & i:;-;
(2) Raju, whois a farmer has two sc}ns Sot”
(3) Raju whois a farmer has two gpns.

e e

(4) Raju! whois a farmer, hga}ﬁq SOnS.

'H.'. a
-\.ﬁ.l'\"

39. The sentences labelled ¢ El, h ¢, d and e are jumbled.

Identify the wrren:t -:}rﬂrér

a) Kamala pla.ntﬂd it.

b) Nowj she i is enjoying the fruits.

c). @:m:e Vimala gave a plant as a birthday gift to Kamala.
-.E!} “Kamala and Vimala are good friends.

e} Then she took care of that plant with love.

(1) d),c),a),e),b) (2) b),a)d),c) e
(3) d),b),a),c)e) (4) a),¢),d),e),b)
40. Naveen is anorphanboy. Hisuncleand aunt............ Chim.
Identify the correct option to fill the blank.
(1) look at - (2) look through i
(3) look into (4) look after 'i'll




Q. Booklet
Code
41. My father.........,..... know how to dance.
To fill the blank, identify the appropriate word.
(1) don't (2) will not
(3) doesn't (4) haven't

42. A : Iroseatsix yest&rday..
B : Even I too used to rise at six every morning. \
C : I am rising at six every morning too. — @
I} : 1 rise at six every morning.
Whose response to 'A' is grammatically correct?

(1) D's (2) B's
(3) C's (4) Nﬂne u.l'.' thEEE
43. One who treats skin diseasesisa.......... wirge ‘h g :
(1) Oncologist | {ﬁ&*ﬂﬁ%’chulnglﬁt
(3) Dermatologist {' }{EV Orthodontist

44. ldentify the sets of words ar'l'fan,-g-dﬂ:m the alphabetical order.
(1) Concentrate — cnncaal ﬂﬂnnept — concern

(2) Conceal — wmen._@gtﬂf:— concept — concern
sncern’= conceal — concentrate

{4) Conceal —wﬁﬁc’é‘pt concern — concentrate

11'l bring a cup of coffee for you?"

function' of the sentence s .......

(1) asking question (2) helping

J) making an offer (4) seeking permission

{

(46-50). Read the following passage carefully and answer the questions that follows
_ Man]r peuple think that thgy CAN USe wnul hr:l:ause no LI‘EEILH"E‘ has Euﬂ"ﬂ

agmnst culd ‘N
Is it a natural product? It should have been. However in recent years, na.t '

| had baan suiehned Today's hybrid sheep that the wuul industry uses ari .



e
.

46.

47.

48.

49,

50.

Which of the follow

Q. Booklet . .
Code B g

Seientists have bred a Mermino sheep which is more wrinkled because the
more the wrinkles the more the wool. More wrinkles mean more perspiration
and greater gusceptibility to fles.

The unnatural overload of wool causes misery to the sheep, especially m
summer and in winter, which comes after the shearing of the wool. Many animals

die of cold.
\ ¢ ;

Why do many people think that they can use wool? - %

A

Fili
- = e
T
N g
.
sl
L]

(2) Because woollen clothes are beautiful. M &

(1) Because woollen clothes give protection against cold.

(3) Because woollen clothes are natural.
(4) Because woollen clothes are made by machines.

Why is wool not a natural product today?
(1) Because wool is produced even in hot desert.

(2) Because woolis produced by artificial breeding of sheep.
(3) Because wool 1s produced by wool machines.
(4) Becausc woolis produced Ii_ny great industrial houses.

What is meant by "wool machines"?

(1) Machines to cutweol from sheep

(2) Machinesthdtgrow more wool on sheep

(3) Shegp whieh are artificially made to produce wool

(4) Maehines that process natu ral wool

Why is sheep's body made to develop wrinkles?

(1) Because wrinkles protect the sheep from heat.

(2) Because wrinkles produce more wool on the body.
(3) Because wri nkles help the sheep to avoid fhes.

(4) Because wrinkles make sheep look more beautiful.

ing statements is the most suitable title to the essay?
(1) Man's cruelty to animals (2) Artificial wool
(3) Sheep rearing (4) Synthetic wool

[9] Turn Over



| PART - II
5 S MATHEMATICS

51. When an isoprofit line coincides with the edge of the convex polygon then,

(1) it has many solutions (2)
(3) it has only one solution

Boo; 04 Tp BI040 (P08 womnd? DALV wrrveerrers

(1) esitonSwsiesesss (2) TR Gl

(3) ees s Aot (4) 1 50D R GO
52, Ifz"=x" thenx=.... |

:l:"E= II SO X= ...

(1) 9 2) 2

(3) 3 (4) 0.4
3. If Log %= Log> then Log x, Log yoLogzarein........

Lng— Iﬂg; e:uai:al.ogx, Lugy. Log z o5 826" dctsss ...

(1) AP. R (2 G.P.

3) HP. o &/ (4 AP.and H.P.

54. Ifz“*"“ —EE 2’""’" =256 and 2"*1 =128 then 2" M-/~

) “(1J 16 2 8
(3) 4 @ o
-EE. If a*=b, b= ¢ and ¢?=g then 107 = ......... i
a*=b, bY = ¢ S8cs ¢? =g ety 1072 = STahs
W o | @ 1
O AQ “eis o - @ 100

)‘) A8 ilﬂ]
: ﬁ.ﬁﬁr ;EdILa“hr

ih g )

Q. Bookl

it has no solutions

(4) it has finite number of soluti

2"“‘ =39, 2™ 256 Sabais 271 =128 o gnM-1

llllllllll

L
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1
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"."J"'J‘

: . {1 rL}.“'Htr- uuﬁg "'fkﬁl"f : .-L Jr
ﬁ@ %a unit's place in the expansion of 2014 “Hﬂﬂgglﬁjﬂl,ﬁ_hh , ﬁr W ;

:Buu 2014 1 9016 201 Dsties & e.8ey Mo = ... A

)1 {2}-5::---
(3) 0 L (4) 6
'57. In J2, J8. JI_E, Jﬁ series S, = .........

V2, V8, V18, 82 2 6 S, = .......

(1) 55
(3) J18+6+128
D58 34547+, (20 Terms) = ...
Beh Bttt (20 dpe) =
(1) 400 | ‘%@% (2) 899 |
(3) 401 %@ (4) 420 : |

llllllllll

(8) 297 -' (4) 103

1
L

1£ 3 and 8" terms of G.P. are 8 and 256 respectively, then the 13" term = ... _



Sl o R
ik |

{ |

o O -

iy :

| B T 1 ) : A divides 1
61, In AABC AB=AC, BC=8cm and if the angular bisector of -

Ethen BE (in ¢m) = oo
©gieis AABC 8 AB=AC, BC=8 ..

E 55 ok BE (0.5, 06%) = wrisursreeee
(1) 2 @ 4 t,-'

35000 A ME‘“WS""’&

(3) 6 (4 1 ?#
62. In a square plot ABCD of side 6 m a man stood inside gf%@

AE=DE=5m then BE (in ms)= ...........

6 5. ghesion T 1o ABCD sseouiars s &

= 5 8. 50338 BE (8. 067) = 1orvrer

(1) 2

(3) i3

63. In a cyclic quadnla
& Sgre B3 podiotiatiorg. wasiod $a o0 st 00 55
E = CE + DE (2) AExX BE X CE=DE '
x CE = BE x DE (49 AExDE=CEx BE

b

diagonals intersect at E. Then which of ti

ABCD

- _.‘

64, A chord drawn in a circle makes an angle at the center is 25 1 30°, t} n t

Fart™

T X xngla mada h_v it in the minor BBE]IlEllt- of the circle is .

llllllllll

.#’ﬂaﬂwnﬁ'mﬁé 22+30° Mﬂwﬂﬁ%wm 1:

. f .L_l.

lr '.'-.- ill!'-llHll:PH-lr "' :.. - \
AN SR f2> 42460
x+1 4:—6&“

I
.l i
L""
l

_.l1_|l




65.

66.

67.

68.

Q* Bﬂﬂk‘ﬁ; __I :
Code g

The equation of the line passing through (4, —3) and parallel to A-Qxis is |

(4, —3) foom Mo X-eszprdB 540t ol dup SHaMeatas ...,

(1) x=4 2) y=4
) x=-3 4 y=-3
Slope of a perpendicular line to ax + by=cis........ {ﬂﬁ@
ax + by = c 3 copam éo&ﬁﬁﬂ L) oo s e rssase q
i b
W - )=
b a
(3) 5 (4) b

Area of the triangle whose vertices are (3, 2),(3, 6) and (7, 5) in square
UIILEAS «.omcaenroens

(3, 2), (3, 5) 5360 (7, 5) &0 SgreoiF e e Do B, S8 ...

1) 12 @) 6

(38) 8 (4) d

l,, L, are two lines parallel to [, on hoth sides at equal distances. If equations of

L, l, arg x =6, x=—4, then the equation of [ 18 ...........

L e %M@amW%mr:wﬁwtwh & BhoMtrPes x = 6,

| = —4 eow [ B SMMEASAY L ensnsmanresas
(1) y=5 2 x=1
(3) 2t y="0 (4) x-y=5H

69.

If a circle 1s inscribed in a square of side 7 cm, then its area in sq. CmMS. 18 ........
a _ :

w0 6F 1.8 fo oBdPotnld PR PTOL 97308, 08 uucenee

7 230.00. theo T I\©
1yi49 (2) 315
4) 98
(3) 38.5 (4)
[13]



Q. Bﬂﬂlﬂ L.
ﬂﬂ Ir

i

S

.....

: i
70. A big sphere was made from a cube, If the curved sU rface

em?, then the side of the cube inem s ..o L
= .E.b- m A
2.3 58030050 o0l D Ao 9 DAt S, e mesde g 9s° 6162

m :ﬁﬁ.b}.ﬂﬁ‘ EEEEE AR

(1) 14 (2) 16

(3) 18 (4) 12
71. Ifthe diagonal of a squareis 1642 cm, then the area nfiwﬁ' 1S iy

WU 3o IGJ_ 20,500, BOV TN BTSSR 1. 0.4, 0@:&*}5"“ """

(1) 128 (2) Y

(3) 64 % Y
72. Ifthevolumeand L.S.A. of a cyli é@ 54 cimn®and 88 ecm?, then the radi

thebaseincmsis.......... :

-r L

154 50.20.50., 88 15.20.:0. QDT (U g

aﬁ > Rt
2008 ... *
W 115 SO

9 (2) 3.75
(4 7

S Coe B and 0 < AT R < g then Cos (A+B)= ...

SinA=CosBa8dins0< A, B< ;,m:;ﬁﬂﬂs(A+B}:"“_m

(2)

-

4 0




llllllllllllll

Tﬂ{&—ﬂ]:% and Sin (A+ B)=1thenangleatA=........ |
| Tun{A-BJ'—"% wodaiee Sin (A + B) = 1Wﬁ5‘uﬁn.d= i i.}i
&5 @ n
8) 7 (4

T AT
Tan” o D O s e S ) P i o T Tt o
6

(1) 1 | (2) 2

@) 5 4 3 @\9
@
G.P

Tan 30°, Tan 45°and Tan 60%arein ......,..
(1) AP. \
(3) H.P.

(49 AP.and H.P.

EEEEERREA R R

(2) oo BE
(4) o3 B B0 onb G

(2) 6
(4) 5.6
Po5ed 5 HEP0 BoPg® R sereeernees
(1) 5.8 (2) 6
(3) 7.2 (4) 5.6
[15)
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79. Mean of last 10 & "':.7:.

78. Meau-}flﬂsmrﬂﬁisdﬂ.Meannfﬁrst'IUEWTEFJB ";q
Then the 10" scoreis ............... .
(1) 15 2 10 3
; g
3) 18 (4 20 ;4
; = maas 8. 0asS
w0 5ies0 39, D18 10 S095= -
19 Sopse S 40, eotbE 3t 10 B N o
.'éamE e e .__-:?
(1) 15 (2) 10
(3) 18 (4) 20
79. Median of first 10 whole numbersis .............
(1) 5.5 2) 5
(3) 4 - (4) 4.0
2ol 10 FroreTe Doy TN i
(1) 5.5 : (2) b
B4 o (4) 4.5
80. Fatherg_;fﬁ;;ﬁ.puter I T
1@;‘4 :iécal (2) Charles Bahbage

@ (3) Newton (4) Archimedes

(1) Pascal (2) Charles Babbage

(3) Newton (4) Archimedes




L% '@5 dee‘iman hox

--*- R e

(1 ;irqnﬁaf:iﬁ
(3) Suzpgiw

Which of the following is NOT a computer language?
ﬁ.@namaa‘wmma plal] |
(1) PASCAL (@ JAVA Gay
(3) BASIC (4) FOR

Pictorial representation of an algorith 15%? ’L 4
(1) Pictogram & ar diagram st
(3) Histogram "\e (4) Flowchart

2) xDoderogse
ORI R
Tan 3. Tan 4° .........ccaus 15T e T
@ 1
4) 4
5. I£P(E)=0.75then P (E))= coooovooc... [F
bR S
~ P(F)=0.7603P(EN)=..oovovvveens :
g (@ 025
(4) 0.5
Rt
7




.'-; 1',""
i
(2) p:ﬂt.rueandq s [alse

r

_.-\-

(3] Pmdqﬂ‘mfnlaﬂ (4) pleﬂlEEﬂﬂdq,Iag H

PA~G SORS srasseesi

(1) psBoix g oo istgon: 2)

(3) pudamsgesessEses . @)
87. p:2isan even prime number; g=-~p, then

P : 230 Eomsdop; g=~p £35S’ cesnsrsansenes
(1) pag=F | m
(8 ~prg=T o ~pa~q=T

ple for taumlﬂg}r""

88. Which of thefulluwingjs

@nb:rbé‘wa

) -{pnﬂ @ (pr-p)
4) ~pap i

then n {AUB}P— ........... | -'

AcB e n(AUB)= ..coovvene, [
(1) n(A-B) . @ n(B-4) b
_(3} n(4) 4) n(B)

Bl oy e ¥
g £ "
- Al ﬂi*}:;}l!ﬁ"lill
.. ) ] ' A "
L -

, ,I“...l.: :

@) BE.A 1o

‘ O

3 = 2 1-'4!-““




: ::“I: '-l' =
- it J :..
B i) Q. Bookle
: !"..:'IfJL B are two nonempty sets then A —(A-By=:........ :
| A, BosTors it A (A=B)=......
Q) A @ B
. (3 AUB 4 ANB
j- A = Set of zeroes of x* +3x+k; B = Set of zeros of x* +9x-10and A - B=
then k= ..civveens ;
— ¥ 4 8x+k = 5D Q) WM‘E= 2 +9x-10 @
msu‘an:amﬂ B= {2} woxn k=i o
(1 1 0
3) 3 {41 4 @. |

If [7 = Universal sct and A, B, C are t
and B=C then........... :

thpw sets such that A = B* |

U= ﬁjm,ﬂ,, B, Casrto®
(1) A=B

@) A=C *9 @4 A=B=C

If each of t% s of a quadratic polynomal are one, which 1s the additive
L

t,b her, then the number of terms n | T T R P B

¢§_ﬁ, e st o N B HoNes DEYIT eotl S BoRg ..
@ 2 :

inver

(3) 4 @ 1

§ I - I"'-k-= ....... (L]
If x*+kx® +1x+2 and X" — X— 9 have two common Zeroes then _

+2 Bedoto x° - x—2 5 S5 Dot TR W) SEFSAS L =R = .

2t hx® +lx

1 1 (2): €

(3) 3 (4) 4
[19]




Q. Bo 1.::

96, Zeroes of the polynomial cx? +bx 4@ QYE oo™
cxl +hr+a OS0 BISD BRI cenieee -
b+ Jbi-40¢

“El:tql"bz -4 ac {2'} —--'"_'_E.-_
(1) 2a €
e e —aab

—btJc* - oot
(3) ;u 2 (4) ¢ f "

97. If(~x, y) liesin @,, then (x, =) lies 10 .oeeees g f@#
, 5) o Doty @, 6 s (x, —) e Dotsaip B o552 et
(1) @, 2 @
(3) @, {4_] Q,

98. y-2x+3 graph intersects y=x" at S ,

yo2r+3 TR Y=z polot BoBRIE s
1) (1,0),3,9 ““ \ @ (-1,1),(3,9)

3 (,1), 3, th L Tﬁ @ (-1,9,(3,1)
99. The ﬂbjcﬂyveﬁ;ﬁﬂtlun F =2x+3yis maximum at .
Fqgﬁﬁy Ef.-:r.': o (oct0 5+ (3B TE* BN NOFO wrrvvevn
@@ﬁ%ﬂ; 3) (2) (3,0
‘rs 3 (23 (@) (3,2

100. If 2x+y <5,x-y<1,x >0 and y =2 0 are given then one of the verti'

convex polygon formedis ..............
2x+y <5 x-y<1, x>0 W0 y20 oF VGt HOPTE e &
M@ @ (2,0)
(3 0,2 4 (1,0
".i'-'_' | ,,,. SRS | 1201
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| SOCIAL STUDIES S Code T
101. One of the following denotes the share of rural household families in Andhra
Pradesh-as agriculture laboursis............

51 308 RS’ wop ROTE HRTRo Ereom SUERY,) IPRIes ENS0E0 TP i

2 3
(1) Eth (2) Eth

9 1
| 3 -th (4) th ¢
!]'E. The annual foodgrain production in India during the year of 15%@
was.....

(1) 189 million tonnes per year
(3) 220 miHion tonnes per year (4)

19912009 seited’ groo & ettt oo TR 608 .-
(1) 189 28w wayes (encds) 2 218 a:eems witzes (Socrit)
(3) 220 2BowS snes (Soncd?) (4) ¢ zﬂﬂr;:omiﬁ waes (Fornt)

'103. Number of Telephone/Mobile ennnechnns 'pe:.r 100 persons in urban and rural
areas in India during the 1993—9’5 Wah

1998-99 ; mllwwwmwaﬁﬁn@mwmm;mwﬁ@am

(2) 219 million tonnes year
229 milliun—tui% &Y year

(100) £:088" Do SBA S ...
(1) 4and1 (2) 8andl
(3) 14 andd £, (4) Tandl

1{}4. The number of children under 5 years who die per day due to use of unsafi
drm]ﬂng waterin Indiais.
Q'tm@:;:_::: 5430 [Erieo B8 mﬁw 5 oiore &4y bows Sert W6y 70 oy ...
' (1) 1400 @ 1600
(3) 1800 (4) 1900

f the following associates with the foodgrains in kilograms produced b

bl F

I[IE Oneo
farmer in 1960.

Mmélﬂﬁﬂmuwﬁma%%mwﬁmm%m
(1) 267 (2) 276
3) 287 (4) 296
£_3 [21] Tmﬂ
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106. One of the following effects is not related to green revolution. T M
(1) Increase in production (2) Envi rnnmﬂn’:lt:;;i =3
(3) Water problems (4) Competition betweeiCERg
T+ (300 TS 1503 108 Disio (SerrRA Bowelond ST
(1) &B,86° btKate (2) sorsties B0 3
(8) 9 s (4) Diww Bogy S --

1 1
Chemical industry is one of the fastest growing industries @

..

107.
contributionin GDPis.

M%ﬂ%ammmﬁﬁﬂ?&: 5o w@wmm )

ST e
(1) 2% (2) 3%
(3) 4% (1) 5%

108. In 1981, most of the credit facilities were provided by the following e

organizations.

(1) Landlords

(2) Moneylenders

(3) Cooperative anﬂﬁﬁlﬁ'herciul banks

(4) Government and others formal sources

1981 Sond® I Basisel S0 B ED DL,

(1) ﬁ?b.shm (2) oD

{3} *ﬁtﬂha'-ti wolaiz el wrotoes (4) ©Bibio HoBoin Dbt A

q,]llai ﬁLBE stands for ..

%V@l (1) State Legal Benr:h Committee
(2) State Level Borrowing Committee

(3) State Level Bankers Committee
(4) State Level Bankers Association Committee

Ao, ao. £. . 2 DsBeed ..
(1) 5816200 ¥ (2) 55296 ertansof ¥au

@) PEboefd (1) §535uem, winans s
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110. The imposing of taxes by government on high income groups and consumer

goods reflectson .............. ;
(1) toincrease money circulation

(2) toincrease money demand

(8) to decrease money circulation

(4) to decrease money demand

gt e eTraEiges KOk DUCKITRIG SRpep Sy D05 T Beee S8
(1) (S 0RO BooTodosh (2) (555 Eoroll Btotbtooh
B (3) (g SERsoe Biioed (4) (5 &amel &

11. The percentage of amount spent for health and w@ in total national
expenditure during 2011-12 was ..

2011-12 Sonos® Dic Jaso pEHS’ uﬁ‘ﬁso @a@ Sl B B 300 Bbo Ry

S ;,\}J J
(1) 3% N2 4%

3 5% "”.f‘f“t & 6%

The number of Jfa:ﬂﬁ{g; Who have agricultural loan accounts in 2011 in

-

. Ik F
-\.'.-I‘I-

Indiais........... A
2011 ;aauﬁ::.,i-.j. G BT PPTPD 815 TBOC) DAy esearssasi

(1) N%Eéfh}e (2) 6.3crore

During the last seven decades the production of foodgrains has increased five

times, i.e. from 51 million tonnes to .........

HEDS D e Teob® Gt TnD Gl SIS S5 Twp BN, & Beiike 51

28G5 et ol D6t L8 o0 SATeT BB e
(2) 242 million tonnes

(1) 252 million tonnes
(4) 262 million tonnes

(3) 232 million tonnes
L

(23]




........

(2) Gangd
(4) Narmada

114. The largest river in peninsular India1s
(1) Krishna
(3) . Godavan

i B4 Basten 95006° 30 DED e

(1) $H¥0 (2) nrem
(3) ffows (4) wO5
115. Wheat crop is generally cultivated in ......... . .
(1) Rabi (2) Khant
(3) Jayad (49) Autumn
(1) @ =5 £
(3) manh - (4) w&ﬁﬁﬁ"
116. The famous hillstation 'Udagamandalam'j wjﬁl]ﬂr’l}’ known as ......... | |
(1) Simla (ﬁlyﬁ'ﬂuly
(3) Kashmir Mount Abu
¢ B
BOTTol B30 S8 wou GEEEclEs U1 o0 TIE" Ll Kt besk
(1) a 4 @) &
® =5 & ) araSen

A come of a state in 201215 ..............
chal Pradesh (2) Bihar

(4 AP.
traind (% 2) B
(3) Scw ' (4) eof 355
118. In terms of GDP the share of service sector in 2009-10 was .. |
(1) between 20 to 30 percent (2) between 30 to 40 percent
(3) between 50 to 60 percent (4) 70 percent .‘.
(]
Eﬂﬂg-lﬂ mm!kﬁm_-,aé‘hunﬁnw RSN
1y 20- 30 | T PP e i)

.-.|:"J'l E

14




-f first cement plant was setupin.........
(1) Delhi (2) Chennai
(3) Bihar | (4) West Bengal

(1) &b @
(3) D56 (4) ‘-SQJ::JME
0. One of the following indicates cold local winds.
(1) Loo (2) Chinook o
(3) Mstral (4) Simmon *

T qua a6’ L5 So0 SHre Dk, ’\o
DS &

() e (2)
I. (3) .'-.‘ut.@‘bﬁ (4) w
21. One of the following belongs to highe 5@ water bodies in the world.
= (1) Dead Sea & Lake Van

(3) Great Salt Lake (7@ BalticSea :

B0t SICAAHS o 2eTSIE IS LIPE’ SO
i (1) Sod Shte @ (2) oSS
B (3) aiSheises 5& (4) w05 S0t
2. The mnjfe@ ests are alsocalledas ...

(1) Taigae (2) Tropical desert forests
N ppes (4) Tropical grasslands
-:u SEHDW T EPE Lol s

(1) am (2) eyocte ol elipes

(3) e (4) eigootio Négrbues

123. One of the following i1s known as 'Golden Fiber'.

(1) Jute (2) Cotton

(3) Wheat (4) Maize

G130 06" LETUQ LTS TP OIS«

(1) esoa 2 @2
' @) &3

- ®) Ao |
| 125}

- ;r i
i
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124. One of the following is known as steppes.

dra
(1) Thorny bushes (2) Tun | :
(3) Tropical grassland (4) Temperate grasslan
5+ 308 D" LEPID Panes 8 BEs.
(1) Soeharses (2) oot : a
(4) sachEhgBoote ngﬁr‘-’m&a 2R

(3) &ifvolie NG giraoe
125. Lakshadweep islands are located in one of the following.

(1) Bay of Bengal (2) Arabian Sea
(3) Pacific Ocean (4) Indian Gceaﬂ
o3b@ Bpen T4 (Frobod’ ST,
(1) meonssgpeite (2) SO oo ,
(3) 555 SassanXe (4) faretrRetIabe
126. One of the following is called I'.h_g: fath&f of Dutch cartography.
(1) Gerardus Mercator L (2) Anaximander
(3) George Everest { ' (4) Al Idrisi
&1 (300 06" 55 369 e OIS0 BIRNOLS T Beso,
(1) argdadel ' (2) eidnesh
(3) =HTY (4) wbzadh
127. One of the following is the contour line are also called ............
oY) isolines (2) isotherms
. {33 Jsobars (4) isopleth
PN, | Te (300 6 mowrts Spod LT, TR
N0 BB, (2) =B,
4 (3) =Fb, (4) =Fud ;
128. One of the following is the most commonly accepted meaning of 'Eskimo’. | _;-E
(1) The people (2) Weapon '~
(3) Snowsshoe-netter (4) Language
4 800 06" DIy A iy S I3 308 esohide wxe.
(1) oo (2) watae
(3) ot umnd ) s

e (26]
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] EE The central highlands (Malwa plateau) and the Decean plateau are t-.he ﬁa;tf;f 1
of one of the following. Ty

(1) Indian peninsular plateau
(2) The land stretching between Himalayas and Vindhya mountains
(3) Northeastern part of India

(4) Thar desert area | O‘

%aﬁam(mwm)mcﬁmmmmm Lﬁuﬁi"@m |

wc&u:gﬁa:.
(1) 5n5 Besson buseonn %\@
(2) SSPecire: Dob Store i D00l SR ” :?"F}
(3) 00 TaTvig lretic s A J
(1) 520000 et >
":r =
. The solar radiation received on thenaﬂ ce of the earthiscalled ............
i B/
(1) Atmosphere “:‘?f-} ?"{E{ (2) Insolation
(3) Climate £ -¢ . (4) Condensation

D éﬁ&hﬂﬁﬂi}a RS DIBePI) RO WOLPED wnssensrssses
S () souns, v, (2) oo
) bE%a” (1) Ehgsso

4 B

14 %ﬂg 'r?,r%rd Tongitudo' which means length was taken from one of the following

% language.
(1) English (2) Greek

(3) Italahan (4) Latin
9 ﬂcﬁ@eﬁagan%*pnﬁu%é’ eiB550 54 300 TI6° nlipr ool 858w, |

| {1} EFﬂﬁP {2) lfﬁ’
- @ b . Wi o

(27]

Lyt g LY ¢ _..__ ...l.._..:. 3 £
e < Nl iy . + il l'li'::'“*':-‘?ﬁ. 4
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133.

134.

135.

136.

i |
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Code

, ed by enir

The nationalization of Suez Canal was annm;lrrl:lﬁd y ;i

' (2) itler |
(1) Wilson i
(3) Nasser (4) Ho Chi Minh
SPOE Tess SN DB BESOTIED cesneniee
(1) Deyo (2) b ;-&
(3) ==b (4) oo "."-,..;3:.

tten by ......

The book 'The Civilization of the Renaissance' in Italy was wirl
(1) Niccolo Machiavelli (2) Voltaire

(3) Jacob Burckhardt (4) Roussie
T 3_:3@2;5‘5 &5“:'} & % .,'_...5 .quél oy HoGrad) 06 Wﬂi‘l ............
(1) 2s%6bsnaasnd (2) 50
(3) %5 855 (4) &reF
The new art developed during the period of Kanishka is called ........
(1) Greek-Islamic (2) Gandhara
(3) Indo-Madhura (4) Amaravathi art
X050, meadt F_ffﬂ% LO00 AP B0 300 @0t cureeerensenns
(1) B%-32%E (2) TromRs
(3) &S0 (4) TG 5D
Cﬂ_mmﬁrﬁat Party of China was founded by ..........
| .(l:} Ho Chi Minh (2) Sun Yet-Sen

% (3) Chiang Kai-shaik (4) Mao Tse-tung
ISR WG € P 0 gitths POOTED cververanranses
(1) 028 (2) [R-25-35
(3) Toh-3-38 @) s»Fhesch
Hitler wa:@. attracted to the teachings of one of the Ihilﬂwing,
(1) Voltaire (2) Louis Blane
2pvictis B4 DO GG LNBBTTRED
(1) &6 : ()  eraumgpek
(3) = : (4 SrHRY

=

et '.._ T
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Code |

. Columbus first landed upon one nf tﬁ terrilories.

(1) Calicut (2) Cachin

(3) West Indies (4) East Indies
Eroowa DM 54 @o&nﬁ‘mmm

(1) =85 (2) 525

(3) 233045 (4) w505
38. The style of architecture during Delhi Sultanate period is called
(1) Indo-Greek (2) Indo-Muslim
(3) Indo-Persian (4) Indo-Saraceni
GO RogH SO0 T T FuEhD 30 eoets ...

(1) go&-1hs
(3) ToE-BEoHS

1 79' Mussolim established the faseist party
= (1) London
B (3) Berhn

P £ @ (4) Milan
B 55300 D055 460 o @wﬁ%.m-m
._:. {1] E"DEPJ o ':..-*." - {2} m
.— (3) 555 4 .___'.'- ' (1) oo -
.*‘ l Learmng of? Russnn language by all races in Russia was made compulsory
.;-_' hh}t .......... I;"'“ :
5 q( | !' f‘;lexander IT (2) Lenn
-_ -f o zar Peter (4) Nicholas-II
N\
EREERE" o) emiton T00 B PS80 SN0 Bi%yD SN TS wovrerssvens
m 26 esBmotito-1] (2) B05
- (3 =ik (4) o8%R-II
,' an informer of Nizam was killed by ............ :
|_':;_-='_i.'| Alluri Sitarama Raju (2) Komaram Bheem
-.':::';} Kanneganti Hanumanthu (4) Darsi Chenchaiah
q&‘q&v %Q@& ﬁ?‘ﬁ mm‘ EEERERA O R
". mgﬂmw 2) st HS
8) Eayios tissiiooiss (4) 50, oo

' |
[29] = - Turn Over
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i
lldg_ Ho Chi Minh belongs to the country Erf-é' Azl -
(1) North Vietnam 7 nE
(3) Cuba
SRIE B OTRS T o e SRR . e
S0 DORTS » |
g}' ;.::,;.:- (4) RO -
143, One m:-;ung the following 15 considered ta be the person whoihas=g a
of nationalism in Italy .;;.!‘%1' !

(2) Napolean f. %

L '
(4) B1 t:mm:q]{'iﬁﬁ; ‘*“‘**‘

':I

(1) Louis-XIV
(3) Dante

006" s Ea Epes 0 T R PPN ES

(1) 155 ere {2, 3:?}9&5
@) wed @ﬁﬂﬁﬁ
144. Paper was first discovered uy.h@ d Ig;f .............
(1) Persians % Chinese
%’ {4] Greeks
ﬁ Y e e
-4 (2) Tt

(4) e

@ (2) Aristotle
(3) Machiavelh (4)

Ptolemy
#3045 e ! e (Homdy Qs [:.javf.'ﬁt:a
(1) 5 () ok
(3) Srictnd (4) Sels

146. Alluri Sitarama Raju was born in the vear .,

Hﬂ?ﬂ'm T B oadnte & ﬁ;]zm s
(1) 1857 -~ 1807
QRN 1902 (1) 1908

[30]
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7. One of the following is the capital city of Pandyans
(1) Thanjore

(3) Madhura
DIE® 153 Dotioe Trarrs Koo,
(1) @e&% (2) %0
- (3) wogeo (4) 25
48. One of the special constructions of the Harappan people is
(1) Great bath (2) King's palace
A (3) Granary (4) Houses ;gl
v RGBS Baed’ 28 18 ...
(1) 508 ondy (2) oes;
) T 2y @ise 08
The bogk 'Prataparudra Yashobh @m' was written by one of the following. |
- (1) Vidyanatha F%é (2) Palkuriki Somanatha
. (4) Srinadha

ST, DOES 5t .
(2) Sron B85 P>y
4) =%

(2) Kanchi
(4) Paithan

(3) Nachanasoma

A'stands for ..

¢ Saving Basic Deposit Account

Basm Samng Buyers Deposit Account

| ( -, il sic Sellers Bank Deposit Account

sic Saving Bank Deposit Acmuut

ﬂ. &, . B8 DidBeted.

ob Soofl B8 &S IS (2) B8 S0 wais, AdreiS 3PS
_ 206 2505 &eiS 3015 (4) 5 B00R ek A5 0TS
.#"' e [31]
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